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b Choes:

| | T e metal docsn't replace the hydrogen of the
diluted schils.  (Magnesium - copper - gine - fron)

2) Osidation and reduction are ..........processes

(Cangurrent = separated = no correct saswer)

3) There i couuessisnnses woforee between the components of

the muclens
{Repulsion- attraction- both are corvect)

4) The Fremch sclenifst ..o w18 the discoverer of the

radiosctivity phenomenon.
(Mendel = Cilim - Beeguerel)

5)  Bone marrow can be destroyed a3 a result of expesure
0 ssrsvs0eness AMOUNE of radiation for.... periods.

{Large and short = long and smiall = both are correet)

6) The exposure to the small amount of radiation resulied
im o cellular effocts a8 oo
(Spleen damaging - changing in the sex chromesomes -
changing in the hemoglobin structure)

T} Itis mecessary not to be exposed to o radistion more
| T R——— mill sivert per year for the workers in
nuclear reactor., (20 =10-5-1)

#) The nrea chosen for the storing of the radionctive

(Stabile - away from the voleanoes — bath are correct)

9} The scientist who made the model of the DNA malecule
s {Crick-pedal = Mendel)

10) Genes are found in e .. of cell,

(Cytoplasm - ulmhldrh - nutlens)

1) The two scientins were
able to explain the process of Ililrl-u-m of the heredity
trakts.

(Badel and Tatum = Watson and creck -
Chamberlin and Molten)

12y Birect current can be produced form:

{Electrochemical cells ~ dlectrie generators -
electric power stations)

13) ciivenes b8 the measuring unit of the electric charges

(eoubomb — ampere — volt)
is wsed 1o measore the electromative

14) The
force of a battery.
(Volimeter — Ammeter — Rheasiat)
15) The slidling Rbeostat Is nsed to change ......... and
pu—— T T L TS
{ The current intensity and potentinl difference - the
resistance and potential difference - current Intensity
ani resistance),
16) The Ammeter is wied to measure
electric cincuit.
(The potential difference ~ the current intensity -
the
17) The unit of measuring the elecirk resistance I ...
{Ampere = Volt = Ohm)
18 The unit of measuring the current infensity s
{Ampere = Vobt - (hm)
19) The direct current i osed i ...
(Lighting — electroplating — eperating refrigerators)
2OV THE cmrvermsemsesanemss Ehement s wsed in the catalytic

converfer.
(Sodium - palladiam - magnesiom )
1) Ome of the properties af the alternating current is, ...
(Has comstant value - change directhon — used In electric

palint)
22) The radioactivity phenomenan was discovered by the
1o T

{Ckhm - Becquerel - Ampere)
23) The covmereee effect of radiation is o result of changing the
sex chromosomes of the cells,
{Physical - genetic— cellular)
) wimimninsinsiess 18 0 mOnradinsctive clement
[radium - arankum - iron)
15) The measuring unkt of absorbed radiation | ...
{Curie = Sievert - roentgen)
26) On heating copper hydroxide we obtain :
(Copper carbonate and water — copper oxide amd water
~ copper and hydrogen — copper oxide and hydrogen)
17) In thermal decomposition resctions. the compound is
decomposed into
{lis simple components - s primary elements - other
compounds = all the previous)
28} The two factors of the hereditary trait are similar in the
PrPRR— T
(Pure - hybrid ~ recessive —~ Pure and recessive)
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1) The breaking up of the molecubry of the reactants sned
the forming of mew coBBrEBOTE oo omammamin i3,
2§ K is ibe sebaimnce which beses an electron er mare
during o chamical reattban.....cicomemmarreas

N Arntdl.nhﬂlllh.ulllhlhhl-&ﬂm

A} Chemical reactions in which the compound breaks up
intn simple o by hrat

5 Thech s e tion of i
r\md.u.lnhl‘hllfuuldl .......................

£ hmﬁul&mlhwﬂmm
reaction withowt Interfering in bt or belng comumed.

71 A chemical process in which nm atom of ibe chemeni
Soqulres one oF mare eIl s .

L] Thhﬂmk:hlguhlmii‘lnr .........

¥ The ric currest of E imiemuiny mnd direciban

lﬂmmﬁlmmdld-hﬂnh
LT L[ T -

l‘}“ﬂl__“l’l‘ﬂil’kdmlhlhﬂwl

- in tinee.
12) The state of the conductar that ihow the transfer of
Fram mma 18 leson s cansiasnsns

1.3) The process of spentancaus copverison of atoms af
-ﬂmmhmuﬁﬂﬁlm
wizhility.

14) mﬂllldmudnch:rmrp'iﬂﬂul during
mmelear reactions that can be controlled and carvied aut

15) The atoms of radionctive clements that contain the same
sumber of protans and have different number of
BRI,

lﬂmmnﬁﬂuum-rnlhﬁmw-imd-th
s exposure to radiathons, ..o,

17) mmﬂm“mrﬂnmummm
18) The resistance of & conductor that allows the passing of
an electric current of | Ampere through it when the

potential difference between its two ends is 1 Vel

19) The intensity of the electric current Mowing in an
electric cirenit when an electric charge of | Coulomb
passes whthin the conductor’s cross section kn | second,

20) The device used o messure (e intensity of the electric
carrent passing in » conductor.

21) The measurement unit of the clectromative force af the

ebeetric cell.

212 The messuring unit of the shiorbed radiation,

23) A science thal ressarches the transmission of the
hereditary traits from one generation e another by the
stadying the similarity and differeace between the
parents and the offspring,

24) The characters reasdly to be transmitted from one
generalion to another.

25y The trait that appears in all individuals of the st
gemeration in Mendel's experiments,

26 The nppesrance of & hereditary tralt In the individuals
af the first generation when twe Individuals copulate
and one of them b earrying a pure herediinry trait
camtrasting the trail carcied by the other individual,

ITHi is chemically condinted of & nucleic acid called DNA
comnected with protein,

2R Parts of the DNA that are preseat an the chromasomes
and carry the hereditary traits of the individual,
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B, The law of segregation states that,.., ..,
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- o s e i s o,  Scror o e P B s e
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i mmﬂmﬂﬂmmhlhw one electron or mare during & chemical resction. ::‘M.ﬁ:‘w”mm.M!
cafl. 13} During reactions, the compoand i The R
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1- Connection in series and in parailel, 27)  Nall+ AsNO, 5) Metals are considered as reducing sgents.
{ votal e.m.0 ) 13) Cu m“h &) Chemical reactions are different in their speeds.
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21y Somie elements are called radisnctive elemenis.
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: Show by drawing only;
)
=y ey i 1} You have four electric cells ench of e.m.f 1.2 valt.
[y e g e £ Show by drawing the method of connecting them all
| oo gt of wagst T to obtain each of the following:
oy T e i A) 1.2 volt B) 4.5 volt
V- 35 Pty g €y 24 volt
o Cl=——"
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I- Adding af hyrochloric acid to the sodium carbomate, ! Answer the following:
1- Adding ol silver niirate slution bo the sodium chloride Vi- Problems: 1- Use 1: l'hlhwl; symhbaols 1o ll.'umn:::f the rm.l!: ;ﬂ":'h;
sotuthen, 1- Caleulnte the potential difference of the two ends mating between the péa plant with long stem |
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B~ The effect of beat om red mercury oxide. intensity 0.5 ampere is passed through it Calculate 3= A munting between hybrid pea plants with red flowers
W The resciion of mng with diluged hydeochlerks acid. the intensdty of the electric current passing through {Rr) and apother one with white Mowers (rr) has
|l-m“ﬂﬁ' of Alominam with diluted hydrochleric this conductor if it is connected with a voltage source occurred, [ustrate osing heredity principles the traits af
of 12 volis the resulied generation.
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